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(1 100 1.Efficiency O OO A: What is the efficiency of this product line
O B: Itsabout85%. AL 000 O0O0OOOOOOBOOO

[1 85%01 2.Labor costs [1 [ I [0 A: Why do we have such high
labor costsL] B: Our labor workers were from the state owned
enterprise AU 0D 0OOD0OOD0OO0O0OO0OOOBOOOOOO
000000 O 3.Lean manufacturing U U OO 1O A: Why do we
need lean manufacturing?B: Very simple, to cut the costs and
increase theefficiency AU O OO OO0 OOOOOOBOO
DO0000000000000 0 4.Power consumption [ [
[ O A: What is the power consumption for your plant?B: Ten
thousand KWH eachday AU O OO0 OO0 000000 OBO
JododododsPPMOUOOOOA: What is your PPM
[1 B: Our PPM is 25.A: Thats great. ALl O OO O PPMU O O O BO
0 0O OPPMO 250 AL O O O Noteld PPM means part per
million, usually a measure of quality.] 00 PPMU O O 0O O O O [
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